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(2) cos600° x tan 135° + sin 1920° x tan(—870°) = 1

(3) sin?1° +sin? 2° + sin? 3° + --- + sin? 180° = 90
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cos(270°+0) tan(180°-0)
sin(90°-0) tan(540°—6) tan(360°—0) -

ERiM B cos x + c0s2%%2 6x + c0s?%23 7x = 3H(—3) X 180° < x < 3 X 180° 2 EB&xT

Bcos(—110°) = k » Bljtan 1330° =
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4sin6+3cosf

£Xtan(180° — 9) = %Ecos@ <0 8% cosb , simb _

1-tan @ 2—cos®




PONEEDE]  SOFRiREE

10 « EHEIUEH ABCD b » EAB =5~BC =12~ AC =13 » 2£A = 120° > BJBD =

HIGEBYIZQ(—V2 » Vo) BIRAITEEE (ERABETIR0°EI360°2[E])

E2RA 13WIE=MA ABC EZ:2DBIER—% P+ Q » R » {13 APQR JER—F{TIU:EH? -
NEBATR - BFTIOERE APQR BIETER20V3 » BIPRBIRER °

ERA ABCimEsinAcosA —sinBcosB +sinCcosC =0 Bttt =AF80iRE

14 EAAchJ , EQa NN C%%E;ﬂﬁu , E\UZSinA+SsinB+ZsinC —

2sin(A+C)
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a(b? + c?)cos A+ b(c? + a®?) cos B + c(a? + b?) cosC = °
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